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i .
mER A | KFEXITET Ea & X £ AR o
EHTET mE 497 213 1,151| R17.6.30
EHET L#E 634—2 213 1,829| R17.6.30
EHET AH 128 213 3,009 R17.6.30
EFTHET Lt#H 1867—2 | & 1,592 R17.6.30
EHET 5R% 142—1 213 4311 R17.6.30
EHET 5R% 151—1 213 1,706| R17.6.30
EHET L#E 664 213 2,992 R17.6.30
EHET b 5038—1 | £ 3,214 R17.6.30
EHET b 5038—4 | & 343 R17.6.30
EFTHET t2F 1698 E3C] 4,027 R17.6.30
EHHET t2F 2035 £ 2,285 R17.6.30
EFTHET t2F 1715—1 E3C] 944| R17.6.30
EFTHET t2F 1419 E3C] 1,670 R17.6.30
EFTHET t2F 1420—1 E3C] 2,185 R17.6.30
EFET tzF 1542—1 E3C] 826| R17.6.30
EFET tzF 1547—1 E3C] 5611 R17.6.30
EFTHET E2F 1906—7 | & 331| R17.6.30
EFTET g 5041 £y 3,002| R17.6.30
EHET b 5042—D | & 3,954 R17.6.30
EFTHET J\BBR 1949—1—D| £ 817| R17.6.30
EHHET FE 529—1 £ 1,744 R17.6.30
EFTHET J\I&R 1999—3 | £ 2,199| R17.6.30
EHHET FE 570—3 £ 1,500 R17.6.30
EHET t2F 2094—2 | £ 1,809 R17.6.30
EHET J\PBR 1999—1 | £ 486 R17.6.30
EHET J\PBR 1999—2 | £ 2,047 R17.6.30
EHET J\VBR 1951 e 1,567| R17.6.30




o'
mEHE (m) E3:
mETHA | KFEXITE 7 & X4
EATET J\FBIR 1947 3] 2,893 R17.6.30
EATET J\FBIR 2030 3] 1,325 R17.6.30
EFET tz=F 1417—1 21 1,455| R17.6.30
EFET tz=F 1417—2 | &85 63| R17.6.30
EFET tz=F 1417—3 | &8 1,026/ R17.6.30
EATET FE 572—1 3] 1,447 R17.6.30
EATET FE 576 3] 3,167| R17.6.30
EATET FE 549 —1 3] 5297 R17.6.30
EATET FE 580—1 3] 3,062 R17.6.30
EHET FE 545—2 E3C 1,890 R17.6.30
EHET FE 557—3 E3C 478 R17.6.30
EHET FE 558—1 e 3,360 R17.6.30
EHET FE 558 —2 E3C 76|/ R17.6.30
EHET FE 556—1 E3C 1,300 R17.6.30
EHET FE 556—2 £ig 1,774 R17.6.30




o' .
mETHA | KFEXITE 7 & X4 AR "
EATET FE 566 —1 3] 150 R17.6.30
EATET FE 566—2 3] 30 R17.6.30
EATET FE 579—1 3] 920/ R17.6.30
EATET FE 579—2 3] 1,071| R17.6.30
EATET FE 578 3] 3,465 R17.6.30
EATET FE 550 3] 3453 R17.6.30
EATET FE 569 3] 1,393| R17.6.30
EATET FE 549—2 3] 114 R17.6.30
EFET tz=F 2056 =3 2,389 R17.6.30
EHET FE 521—1 e 881 R17.6.30
EHET t2F 1953—2 | 28 1,205 R17.6.30
EHET t2F 1418 3] 2,024| R17.6.30
EAET tzF 2090 e 2,353| R17.6.30
EAET tzF 2091 e 868 R17.6.30
EAET tzF 2101—D | & 746/ R17.6.30
EMET tzF 2096—3—D| &8 362 R17.6.30
EHET t2F 2096—4—D| & 1,032| R17.6.30
EMET tzF 2005 e 239 R17.6.30
EMET tzF 2015 e 2,889 R17.6.30
EMET tzF 2016 e 5,339 R17.6.30
EHET FE 546 = 980| R17.6.30
EAHT t2F 2086—1 e 3,965 R17.6.30
EHE FE 559 £ 4078 R17.6.30
FATHT FE 540—1 e 5316| R17.6.30
EHE t2F 1904 £ 1,295 R17.6.30
EAHT t2F 1905 e 1,035/ R17.6.30
EAHT t2F 2060 e 2,701 R17.6.30
EHE t2F 2070 2 3,264/ R17.6.30




i )

HETR % | XFXEE | F #h & HX 4 AR =
EHET tzF 1949 e 2,789 R17.6.30
EHET tzF 1957 e 1,090, R17.6.30
EFET E2F 2018 E3C) 1,280 R17.6.30
EFET E2F 2019 E3C) 400 R17.6.30
EFET E2F 2059 E3C) 2,302| R17.6.30
EHET tzF 1956 £ 975/ R17.6.30
EFET E2F 1906—1 E3C) 966| R17.6.30
EFET E2F 1907—1 E3C) 597| R17.6.30
EFET E2F 1953—1 E3C) 600| R17.6.30
EHTET tzF 2095—1 | £ 4,783| R17.6.30
EAET E2F 2013 E3C) 1,929 R17.6.30
EAET E2F 2089 Ec] 3571 R17.6.30
EAET vk 4463 Ec] 3676/ R17.6.30
EAET E2F 2084 Ec] 3,107 R17.6.30
EAET E2F 2088 E3C) 1,823 R17.6.30
EFTET EzF 2028—1 E3C) 1,799 R17.6.30
EFTET EzF 2080—1 E3C) 1,504 R17.6.30
EFTET EzF 2087—1 E3C) 2,014 R17.6.30




i )

HETR % | XFXEE | F #h & HX 4 AR =
EHHET b 5038—2 | £ 1,206 R17.6.30
EFTET y:p 5038—6 | =M 116/ R17.6.30
EFET E2F 1547—4 | &5 1,520 R17.6.30
EHET tzF 1414 £ 3,200 R17.6.30
EHET tzF 1427 £ 879 R17.6.30
EHET tzF 1959 £ 486 R17.6.30
EFET E2F 1547—2 | &5 1,285 R17.6.30
EFET E2F 1547—3 | & 234 R17.6.30
EFET E2F 2152—1 21 1,290 R17.6.30
EFTET FE 555—1 E3C1 2,591| R17.6.30
EHHET FE 555—2 £ 1,000 R17.6.30
EFTET FE 531 E3C1 2,680 R17.6.30
EHHET J\VBR 1948—1 | £ 1,074| R17.6.30
EFTET FE 581 E3C) 327 R17.6.30
EAET vk {29 | 5080—3 | £ 498 R17.6.30
EHET FE 565 £ 1,989 R17.6.30
EHET FE 417—3 £ 444 R17.6.30
EFTET FE 557 —1 E3C) 3,197 R17.6.30
EHET FE 577—3 £ 1,469 R17.6.30
EMET vk 5080—1 21 919 R17.6.30
EMET vk 5080—4 | &8 498 R17.6.30
EAHT vz 5078—1 E3C) 1,100 R17.6.30
EAHT vz 5078—2 | &8 602| R17.6.30
EAHT FE 582 ESc 8,116/ R17.6.30
EFTET t2F 2055—1 ESc 920 R17.6.30
EHET t2F 2055—2 | &£ 3,227 R17.6.30
EAHT FE 568 ESc 5962 R17.6.30
EHTET FE 547—1 £ 1,423| R17.6.30




i
HETR % | XFXEE | F #h & HX 4 () =
EHHET FE 547—2 e 3,644 R17.6.30
EFET E2F 2029 E3C) 350 R13.6.30
EFET E2F 2030 E3C) 651| R13.6.30
EFET E2F 2031 E3C) 852| R13.6.30
EFET E2F 2032—1 E3C) 1,170 R13.6.30
EFET E2F 2032—2 | &8 25| R13.6.30
EHHET hE 549 £ 2,983 R17.6.30
EHHET hE 553 £ 2,987 R17.6.30
EHHET hE 564 £ 4,483| R17.6.30
EFTET KR 551—1 E3C) 3,966| R17.6.30
EFTET KR 552—1 E3C1 2,844 R17.6.30
EFTET KR 552—2 E3C) 989| R17.6.30
EFTET KR 552—5 E3C) 555| R17.6.30
EHHET KE 562—1 £ 2,299 R17.6.30
EFTET KR 563—1 E3C) 666| R17.6.30
EHET KE 563—2 £ 1,502| R17.6.30
EHET KE 563—3 £ 2,128 R17.6.30
EHET KE 566—1 £ 2,942 R17.6.30




o' .
mETHA | KFEXITE 7 & X4 AR "
EATET Es 826—2 3] 453 R17.6.30
EATET Es 826—5 3] 167| R17.6.30
EATET KEs 826—6 3] 395 R17.6.30
EHET &S 77 3] 1,659 R17.6.30
EATET KEs 555—1 3] 1,756/ R16.10.31
EHET NI 1693 3] 2,507| R17.6.30
EATET TER 1011 3] 2,312| R17.6.30
EATET TER 826—1 3] 1,392 R17.6.30
EATET TER 734 01 2,606 R17.6.30
EATET TER 735 3] 150 R17.6.30
EATET TER 817 3] 2,140 R17.6.30
EATET TER 795—1 3] 217| R17.6.30
EATET TER 809—1 3] 1,624| R17.6.30
EATET TER 809—2 3] 100 R17.6.30
FATHT 3 1818 e 3,060 R17.6.30
EATHT y=p 4742 e 1,654| R17.6.30
EATHT TEAR TH 515 e 997 R17.6.30
EHET TEXR TH 517 3] 1,454| R17.6.30
EHET TEAR 794 3] 2,181 R17.6.30
EHET TEAR 837 3] 2,054| R17.6.30
EHET TEAR 1012 3] 1,263| R17.6.30
EAHT 3 1814—2 | & 2,000 R17.6.30
EHE TEAR 1073 £ 3,598 R17.6.30
EHE EEXR 753 £ 2,410 R17.6.30
EHE TEAR 787 £ 2,182 R17.6.30
EHET TEKR 1091 e 5,313 R17.6.30
EFTET TR 1103 £ 1,545| R17.6.30
EHE TEAR 519 2 1,141 R17.6.30
EHE TEXR 1087 2 2,008| R17.6.30




o' .

METR 4 | KFEXIE 7 & #hX 4 AR "
EATHT TR 1112 21 2,035 R17.6.30
EATET TEAR 720 3] 2,220 R17.6.30
EATET TER 743 3] 2177| R17.6.30
EATET TER 533 3] 1,127 R17.6.30
EATET TER 836 3] 2,315/ R17.6.30
EATET TER 1078 3] 1,255 R17.6.30
EATET TER 888—1 3] 1,347 R17.6.30
EATET TER 888—2 3] 500/ R17.6.30
EATET TER 840 01 1,862| R17.6.30
EATET TER 1086—1 | & 2,800/ R17.6.30
EATET TER 1086—2 | & 2,200, R17.6.30
EATET TER 534—1 3] 758| R17.6.30
EHET TiEAR 538—1 e 300 R17.6.30
EATET TER 841—1 3] 740 R17.6.30
EATET TER 841—2 3] 121| R17.6.30
EHET TEAR 721 3] 602| R17.6.30
EHET TEAR 1033 3] 1,072 R17.6.30
EHET Bha 45—1 3] 2,002| R17.6.30
EHET NI 1987—1 | &8 2,137| R17.6.30
EMET 3 1817 e 3,610 R17.6.30
EFTET ®E 280—1 = 981| R17.6.30
EFTET ®E 280—2 e 58| R17.6.30
EFTET ®E 318—2 £ 1,000 R17.6.30
EFTET ®E& 318—3 e 340| R17.6.30
EHE ®E 323—1 £ 1,661| R17.6.30
EFTET ®E& 323—-2 £ 1,000 R17.6.30
FATHT =P 4729—1 e 1,530 R17.6.30
FATHT =P 4729—2 | £ 1,300| R17.6.30
FATHT =P 4729—3 | £ 590 R17.6.30




i )

HETR % | XFXEE | F #h & HX 4 AR =
EHET EEX 754 e 1,830 R17.6.30
EFET NI 1874 E3C) 2,201| R17.6.30
EFET NI 1757 E3C) 441 R17.6.30
EFET NI 1756—1 E3C) 2,500 R17.6.30
EFET NI 1756—2 | & 921| R17.6.30
EHHET TER 831 £ 5226 R17.6.30
EHHET TER 1093 £ 1,144| R17.6.30
EHHET TER 811—1 £ 3,230 R17.6.30
EHHET TER 811—2 £ 947| R17.6.30
EHHET TEKR 698 213 3,744 R17.6.30
EFTET TiEAR 699 E3C) 318| R17.6.30
EHHET TEKR 732—1 £ 1,900 R17.6.30
EFTHET TEXR 732—2 E3C) 368| R17.6.30
EAET 3 1813 E3C) 2,651 R17.6.30
EAET 3 1865 E3C) 4338 R17.6.30
EHET N 1704—4 | &85 655| R17.6.30
EFTET 1IE:3 1812—2 | & 892| R17.6.30
EHET TEKR 935 £ 2,570 R17.6.30
EFTHET TEKR 814—1 E3C) 6,356 R17.6.30
EHET TEKR 936—1 £ 1,646 R17.6.30
EFTHET TEKR 936—2 E3C) 949/ R17.6.30
EHET N# 1760 £ 2,205 R17.6.30
EHET N# 1907 £ 750| R17.6.30
EFTET 3 2000—1 ESc 3,089 R17.6.30
EFTET 3 2016—1 ESc 5602 R17.6.30
EFTHET TEKR 1048—1 | & 1,380 R17.6.30
EFTHET TEKR 1048—3 | & 849 R17.6.30
EHTET IlIE:S 1761—1 | &85 2,820 R17.6.30
EAET 3 1761—2 | & 856| R17.6.30




i )

HETR % | XFXEE | F #h & HX 4 AR =
EFTET NI 1767 E3C) 991| R17.6.30
EFTET NI 1766—1 E3C) 1,305 R17.6.30
EFTET NI 1766—2 | & 961| R17.6.30
EFTET NI 1766—3 | & 1,185 R17.6.30
EHET I 1913 £ 2,756 R17.6.30
EHET EEXR 690 £ 2,899 R17.6.30
EHET EEXR 752 £ 1,903| R17.6.30
EHET EEXR 764 £ 911 R17.6.30
EHHET TER 800—2 £ 1,200 R17.6.30
EHHET yzp 4735 £ 4,314| R17.6.30
EHTET EEXR 691—1 £ 1,061 R17.6.30
EHTET EEXR 691—2 £ 215/ R17.6.30
EAET EER 758—1 Ec] 339 R17.6.30
EHTET EEXR 759 £ 1,215/ R17.6.30
EHTET N# 1822—2 | &1 2,000 R17.6.30
EFTET R 152—1 E3C 1,386/ R17.6.30
EHET R 152—2 £ 130 R17.6.30
EHET TEKR 826—2 £ 2,111| R17.6.30
EHET Eng S 295 £ 2,533 R17.6.30
EHET Eng S 329 £ 726| R17.6.30
EHET TEKR 897—2 £ 1,055/ R17.6.30
EFTET EER 758—6 E3C) 106| R17.6.30
EFTET EER 579—1 E3C) 2,118/ R17.6.30
EHET LEEX 601—1 EpC 1,903| R17.6.30
EFTET EER 602—1 ESc 600| R17.6.30
EFTET EER 602—2 ESc 970 R17.6.30
EHET TER 792 EpC 1,424 R17.6.30
EHTET TEK 791 213 986| R17.6.30
EHTET LEEX 678 213 1,004 R17.6.30




o' .
mETHA | KFEXITE 7 & X4 AR "
EATET EEXR 679—1 3] 1,113 R17.6.30
EATET EEXR 700—2 3] 3,342 R17.6.30
EHET EER 679—2 3] 1,000 R17.6.30
EHET EER 758—3 3] 1,138 R17.6.30
EATET TER 1005 3] 1,464| R17.6.30
EATET e 154—1 3] 1,664| R17.6.30
EATET ®mE 321 3] 844| R17.6.30
EATET ‘e 322 3] 1,315 R17.6.30
EATET e 160 3] 706| R17.6.30
EATET e 161 3] 1,067 R17.6.30
EATET e 67—2 3] 2,496/ R17.6.30
FATHT EEX 758—2 e 590 R17.6.30
EATET TER 1094—1 | &8 1,253| R17.6.30
EHET TiEAR 1094—2 | &1 56/ R17.6.30
FATHT 3 1901 e 3,986| R17.6.30
EHET NI 1942—1 | &8 1,713 R17.6.30
EMET 3 2015—1 e 1,985/ R17.6.30
EHET NI 1769 3] 2,012 R17.6.30
EHET NI 1770 3] 1,402| R17.6.30
EMET 3 1819 e 1,830 R17.6.30
EHET Bha 126 3] 1,248| R17.6.30
FATHT TEKR TH 539 e 908 R17.6.30
EHE TEXR TH 540 £ 1,470 R17.6.30
EHE Bha 26—1 2 966/ R17.6.30
EFTET TR 1070 £ 1,054 R17.6.30
EFTET TR 1048—4 | & 850| R17.6.30
EHET TEKR 745—1 e 3,633 R17.6.30
EHE TEAR 835—2 2 1,501 R17.6.30
EHE BhE 427 2 3,188 R17.6.30




i
HETR % | XFXEE | F #h & HX 4 () =
EHHET iRE 171 e 1,901| R17.6.30
EHHET iRE 21—1 e 379| R17.6.30
EHHET iRE 21—2 £ 970| R17.6.30
EHHET iRE 136—1 £ 2,286 R17.6.30
EHHET iRE 205—1 £ 3,295 R17.6.30
EHET EEXR 644 £ 3,375 R17.6.30
EHET EEXR 681 £ 2,972| R17.6.30
EHET EEXR 687 £ 2,483 R17.6.30
EFET EER 645—1 E3C) 322| R17.6.30
EHTET EEXR 645—2 £ 666| R17.6.30
EAET 3 1762 E3C) 2,916/ R17.6.30
EHTET EEXR 677—1 £ 1,999 R17.6.30
EHTET EEXR 677—2 £ 1,170 R17.6.30
EHTET EEXR 677—3 £ 485/ R17.6.30
EHTET EEXR 646—4 £ 1,137| R17.6.30
EHET EEXR 646—5 £ 2,240 R17.6.30
EHET TEKR 901—1 £ 3,011 R17.6.30
EHET R 57—1 £ 1,849 R12.6.30
EHET R 125 £ 1,709| R14.6.30
EHET R 199 £ 2,091 R12.6.30
EHET R 196 £ 1,349 R12.6.30
EFTET Ra 234—1—A | & 25;82%)02 R12.6.30
EHHET iRE 159 £ 2,725 R14.10.31
EHHET 25 BFE | 1082—1 | £ 739| R17.6.30
EHHET 25 BFE | 1083—1 | £ 1,491| R17.6.30
EHET TEK 737—1 £ 1,000 R17.6.30
EHHET 1 508 —1 £ 1,498| R17.6.30
EHHET R 552 e 2,047| R17.6.30
EHHET mE 547 e 1,957| R17.6.30




i
HETR % | XFXEE | F #h & HX 4 () =
EHHET = il 923 e 2,115 R17.6.30
EHET TEKR 737—2 e 2,571 R17.6.30
EHHET = 380 £ 390 R17.6.30
EHHET = 379—1 £ 1,456 R17.6.30
EHHET = 378—1 £ 2,603 R17.6.30
EHHET T2E 329 £ 1,803| R12.6.30
EHHET y:p EEIL| 4747 £ 1,920 R14.6.30
EHHET y:p Tt | 4480—2 | 28 1,900 R14.6.30
EHET EEXR 766—1 Epe 465 R13.6.30
EHTET EEXR 766—2 £ 230| R13.6.30
EHTET EEXR 766—3 £ 1,700/ R13.6.30
EHHET yzp EEIL| 4855 £ 2,527 R17.6.30
FATHT =P FEW 4857 e 831 R17.6.30
EHHET yzp HEIL| 4873—D | £ 1,827| R17.6.30
EHTET tzF 1645—1 | 213 2,346 R13.6.30
EFTET FE 542—1 E3C) 636| R12.6.30
EFTET FE 542—2 E3C) 665| R12.6.30
EFTET J\BEH 1997 E3C) 1,631 R12.6.30
EFTET J\BEH 1996 E3C) 1,660 R12.6.30
EHET L¥H 615—1 £ 120 R17.6.30
EFTET Lt#H 615—2 E3C) 78| R17.6.30
EHET L% 615—3 £ 124| R17.6.30
EHET L% 615—4 £ 1,220 R17.6.30
EHET L% 615—5 EpC 1,276 R17.6.30
EHET L% 615—6 EpC 241 R17.6.30
EFTET Lt#HE 608—2 E3C) 1,907 R17.6.30
EFTET Lt#HE 601—1 E3C) 1,653 R17.6.30
EHTET THH 1065—1 | &1 1,725 R17.6.30
EHTET T#HH 1065—18 | £ 169 R17.6.30




i )

HETR % | XFXEE | F #h & HX 4 AR =
EFET E2F 1611—1 E3C) 3,151 R17.6.30
EFET E#H 1808—1 E3C) 991| R17.6.30
EHET I 2051 £ 4,300 R17.6.30
EFTET NI 2052 E3C) 610 R17.6.30
EFTET NI 2053—1 E3C) 1,249 R17.6.30
EFTET NI 2053—3 | &8 291 R17.6.30
EHET I 1957 £ 2,064 R17.6.30
EFTET NI 1871—1 E3C) 3,545 R17.6.30
EFTET NI 1871—2 | & 2,573 R17.6.30
EFTET 3 1763 Ec] 3,094 R17.6.30
EFTET vk fa®r | 4486—2 | 28 3,988| R17.6.30
EHHET T#HH 173 £ 1,917| R17.6.30
EAET T#HE 166—1 E3C) 1,848 R17.6.30
EAET T#HE 167—2 E3C) 1,076 R17.6.30
EAET T#HE 168—1 E3C) 1,671 R17.6.30
EHET T#HHE 168—4 £ 1,323| R17.6.30
EMET T#HE 1036—1 E3C) 1,502 R17.6.30
EHET L¥H 560 213 5501 R17.6.30
EFTET Lt#H 660—1 E3C) 1,264 R17.6.30
EFTET 1IE:3 2001—1 21 5,920 R17.6.30
EHET N 1915—1 | &1 4,430| R13.6.30
EFTET 3 1915—2 | &1 2,200 R13.6.30
EHET T#HH 174—1 £ 1,109| R15.10.31
EHET LEEX 82 Epe 2,993| R17.6.30
EHET mE 7—1 EpC 1,865 R17.6.30
EHET TzE 273 Epe 588| R17.6.30
EHET TzE 272 EpC 1,980 R17.6.30
EHTET T2E 274 213 423| R17.6.30
EHTET s 213—1 213 1,610 R17.6.30




i
HETR % | XFXEE | F #h & HX 4 () =
EHHET R 155 e 1,477 R17.6.30
EHET ¥ 182 e 2,315 R17.6.30
EHHET iRE 253 £ 1,122| R17.6.30
EHET ¥ 271 £ 1,438 R17.6.30
EHHET iRE 260 £ 3,687| R17.6.30
EHHET iRE 250—1 £ 765| R17.6.30
EHHET iRE 250—2 £ 610| R17.6.30
EHET ¥ 272 £ 396| R14.6.30
EHET ¥ 268 Epe 2,392 R14.6.30
EHTET ¥ 269 £ 3,030 R9.6.30
EFTHET KR 189—5 E3C) 945/ R17.6.30
EFTHET KR 190—3 E3C) 562| R17.6.30
EHHET hE 300—4 £ 1,292 R17.6.30
EHTET &S 8—2 £ 2,932 R17.6.30
EHHET B8R IF 76 213 838| R17.6.30
EHET B8R IF 20—1 £ 3,480 R17.6.30
EMET BRix 196 21 3,004| R17.6.30
EHET B8R IF 195—2 £ 342| R17.6.30
EHET B8R IF 195—4 £ 1,632| R17.6.30
EHET &S 138—1 £ 2,815 R17.6.30
EHET &S 33—5 £ 1,146| R16.10.31
EHET bERL 293—4 £ 2,383| R16.10.31
EHET bERL 184—3 £ 1,186| R16.10.31
EHET bERL 185—2 EpC 1,245| R16.10.31
EHET bERL 849—1 EpC 1,545 R13.6.30
EFTET KR 849—2 E3C 1,444 R13.6.30
EFTET KR 546—1 E3C) 987| R13.6.30
EHTET bE 931—1 £ 2,551 R17.6.30
EHTET LtES 140—2 £ 1,406| R17.6.30




i )

HETR % | XFXEE | F #h & HX 4 AR =
EHET LtES 137—1 e 2,791 R17.6.30
EHET LtES 136—1 e 2,798| R17.6.30
EHHET hE 636—1 £ 1,300 R17.6.30
EHHET hE 636—2 £ 1,653| R17.6.30
EHET tES 139—1 £ 2,807| R17.6.30
EHET tES 140—1 £ 504| R17.6.30
EHET tES 140—3 £ 898| R17.6.30
EHHET mE 443 £ 2,324| R17.6.30
EFET BE 444 21 664 R17.6.30
EHHET = 588—1 £ 2,944 R17.6.30
EAET 3 1990—1 E3C) 1,630 R17.6.30
EHHET mE 499 £ 1,910/ R17.6.30
EHHET mE 500 £ 1,085 R17.6.30
EHHET mE 715 £ 1,580 R17.6.30
EAET BE 716 Ec] 905/ R17.6.30
EHET mE 538 £ 3,119 R17.6.30
EHET == 561—1 £ 2,921 R17.6.30
EHET == 570—1 £ 1,495/ R17.6.30
EHET y=p Tefr | 4702—3 | &8 1,349 R17.6.30
EHET y=p T | 4702—1 | &8 759| R17.6.30
EHET y=p 4765—2 | £ 2,024 R17.6.30
EAHT vz 4883—1 E3C) 2,695 R17.6.30
EAHT vz 4889—1 E3C) 1,790 R17.6.30
EAHT vz 4889—2 | £ 1,960 R17.6.30
EHET W HMEE| 1154—2 | &8 1,171 R12.6.30
EHET W —AK 65 Epe 3,790| R17.6.30
EFTHET W+ P D] 290 E3C 2,755 R17.6.30
EHTET W3 J\RH 132 213 1,208 R17.6.30
EHTET W3 J\RH 159 213 1,988 R17.6.30




T &

HETR % | XFXEE | F #h & HX 4 () "
EHHET #H B/EEl 5111 e 604 R17.6.30
EHHET H 159 e 1,651 R17.6.30
EHHET H 163 £ 2,133| R17.6.30
EHHET H ARHE| 430—1 £ 317| R17.6.30
EHHET H ARE| 431-—1 £ 912| R17.6.30
EHET tzF 1692 £ 3,646 R17.6.30
EHHET y:p 4516 £ 598/ R17.6.30
EHHET y:p Tt | 4486—1 | 28 2,989 R17.6.30
EHHET y:p 4448—1 | £ 2,400( R17.6.30
EAET vk 4448—2 | £t 511| R17.6.30
EAET E2F 2096—1 E3C) 1,675 R17.6.30
EAET E2F 2096—2 | 28 565/ R17.6.30
FATHT =P f#1F9 | 5044—1 e 1,836 R17.6.30
EAET vk {#F9 | 5044—5 | 2 389 R17.6.30
EHHET yzp #PF9 | 5044—6 | 28 10| R17.6.30
EMET vk 5324 E3C) 1,987 R17.6.30
EMET vk 5117—1 21 3,000 R17.6.30
EFTHET TEKR 896—1 E3C) 675 R17.6.30
EMET vk 4930—2 | £ 241 R17.6.30
EHET y=p 5095 £ 2,810 R17.6.30
EFTET vk fa®r | 4486—3 | £ 3,988| R12.6.30
EFTHET B2 267 E3C) 570/ R17.6.30
EFTHET B2 332 E3C) 871 R17.6.30
EHET R 392 EpC 2,336| R17.6.30
EAHT BRix 40—2 E3C) 1,008 R17.6.30
EHET BRIZ 40—3 EpC 1,010/ R17.6.30
EAHT BRix 40—1 E3C) 719 R17.6.30
EHTET 231 67—1 213 3,023| R17.6.30
EHTET BRI 39—-2 £ 1,312| R17.6.30




i )

HETR % | XFXEE | F #h & HX 4 AR =
EHET BRIF 40—4 e 281| R17.6.30
EHET BRIF 7—1 e 251 R17.6.30
EHET BRI 7—2 £ 2,798 R17.6.30
EHET BRI 8—1 £ 1,002| R16.10.31
EHET BRI 108—2 £ 1,019 R16.10.31
EFET TiEAR 1048—2 | & 380 R12.6.30
EFET BE 797—1 E3C) 3,283| R17.6.30
EHHET mE 509 £ 1,464 R17.6.30
EHHET mE 510 £ 1,241 R17.6.30
EHHET mE 512 213 300 R17.6.30
EHHET mE 740 £ 1,231 R17.6.30
EHHET mE 741 £ 1,433 R17.6.30
EHHET mE 724 £ 2,510 R17.6.30
EHTET EEXR 83 213 2,784| R14.10.31
EHHET A 383—1 £ 1,315/ R14.10.31
EHET &S 776—2 £ 1,023| R17.6.30




mETA & | KFXIZET 2 HhE X% AR () "
EHET LtES 776—3 e 1,000 R17.6.30
EHET LtES 141—1 e 2,363| R17.6.30
EHHET TER 1025—1 | £ 1,786| R17.6.30
EFTET H 101—-2 E3C 1,213| R17.6.30
EHHET H 150 £ 1,512| R17.6.30
EFTET H 102—1 E3C 866| R17.6.30
EFTET H 101—1 E3C 280| R17.6.30
EFTET H 151—1 E3C 4516 R17.6.30
EHHET W3 —&K| 46-1 £ 1,080 R17.6.30
EHHET W —&AK| 46-2 £ 1,947 R17.6.30
EHHET #H 56—2 £ 1,754| R17.6.30
EHHET #H 135 £ 251| R17.6.30
EHHET #H bR 567 £ 1,297| R17.6.30
EHHET #H bR 572 £ 1,082| R17.6.30
EHHET #H S 673 £ 1,075 R17.6.30
EHET A H BR | 571-2 £ 462| R17.6.30
EHET A H BR | 572—-2 £ 292| R17.6.30
EHET A H e | 668—1 £ 1,507| R17.6.30
EHET H 133 £ 1,614 R13.6.30
EFTHET BE 102—1 E3C) 513 R17.6.30
EHET == 102—2 £ 1,562| R17.6.30
EFTHET BE 102—3 E3C) 591| R17.6.30
EHET H 415—1 £ 313| R17.6.30
EHET B8R IF 37 Epe 3,503| R17.6.30
EHET W 304 EpC 2,224| R17.6.30
EFTHET g {#PY | 5039—1 | & 820 R17.6.30
EFTHET g {#PY | 5039—2 | & 982 R17.6.30
EHTET t2F 1671 £ 2,133 R13.10.31
EHTET t2F 1672 £ 1,713| R16.6.30




HETR % | XFXEE | F #h & HX 4 () =
EHHET hE 808—1 e 1,821 R17.6.30
EHHET hE 808—2 e 1,300 R17.6.30
EHET tES 97 £ 2,803 R17.6.30
EHET tES 96—2 £ 1,962| R17.6.30
EFET 30 262 E3C) 3,001 R17.6.30
EHHET FE 5198—1 | & 1,153| R17.6.30
EHHET y:p 5154 £ 223| R17.6.30
EHHET T2E 468—1 £ 3,260 R17.6.30
EHHET |E 166 £ 1,026| R14.10.31
EHHET yzp il 5231 £ 1,327| R15.6.30
EAET vk {#r 5233 E3C) 1,697 R15.6.30
EHHET INR EHTA| 96—1 213 665| R16.6.30
EHHET INR EHTA| 96-—5 £ 705/ R16.6.30
EFTET 30N 434 E3C) 616| R14.6.30
EHHET 23 435 £ 1,845 R14.6.30
EHET KE 425—2 213 802| R14.6.30
EHET KE 425—5 £ 2,459 R14.6.30
EMET BRix 192—1 21 1,987 R14.10.31
EHET BRIZ 192—2 £ 1,016/ R15.6.30
EMET vk {#F9 | 5152—1 21 302| R15.6.30
EHET y=p #PF9 | 5152—2 | 28 1,073| R15.6.30
EHET = e | 5161—1 | 28 431 R15.6.30
EHET = e | 5162—1 | 28 96| R15.6.30
EHET = #PF | 5163—1 | 28 373| R14.6.30
EFTHET g &P 5164 E3C 2,474 R15.6.30
EHET = e 5225 EpC 763| R15.6.30
EFTET vz &P 5226 E3C 435 R14.6.30
EHTET s 171—1 213 2,436| R13.6.30




